W3 — Solving Trig Equations
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.. For each point given on the terminal arm of the angle, determine the exact primary values for the trigonometric ratios of

the angle.
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2. One of the primary trigonometric ratios for an angle is given, as well as the quadrant in which each angle is located.
Find the other two trigonometric ratios of the angle.

a) sin A= %, first quadrant b) cosB= —% , second quadrant

&7 & ( <@ = —
s — £3 i A 3
) Y OSF ', g\:e
éf‘/\e—' i I 'I {.cv‘(j = -’__(E’:
05 T s I~

3. Determine any three positive angles that are co-terminal with 150°.
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4. Solve the following equations for 0° < 6 < 360°. Round answers to the nearest degree.
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5. Consider ZF such that cos F = % .

a) Which quadrants can £F be in?
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b) Find the coordinates of a point on the terminal arm of the angle in each quadrant.
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¢) If you are also told that the sine of the angle is negative, in which quadrant is ZF?

d) Write the other primary trigonometric ratios for ZF in the quadrant identified in part c.

Answers
. 3 1 . 4 4
1.a)sinf= —,cos = ——,tanf=3 b)sinf= —,cos = ——,tanf= ——
Jo Jio 5 5
) sin & i 6 6 tan @ i d) sin 8 : 6 tan 6 a
¢)sin@=-———,cos@0= —— ,tanf@= — sinf= ———,cos 0= —,tanf= ——
Je1 Jo1 6 34 34 3
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2.a)cos A= — ,tanA= — b)sinB= —,tanB= —
4 7 3 2

3. Answers may vary. Sample answer: 510°, 870°
4.a) 30°,150° b) 150°,210° ¢)97°,277° d) 127°,233°
5. a) the first and fourth quadrants

b) first quadrant: (12, 35); fourth quadrant: (12, -35)
¢) fourth quadrant





